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QUESTION 1

You are running OSPF as your IGP. The interfaces connecting two routers are in the ExStart state. You notice that
something is incorrect with the configuration. Referring to the exhibit, which statement is correct?

user@rR2> show cospf neighbor

Address Interface State 1D Pri Dead
10.0.0.2 ge=0/0/2.0 EXSTart 182.168.1.1 12 36
10.0.0.10 ge-0/0/3.0 Full 152.168.1.3 128 38
user@r2> show ospf interface ge-0/0/2.0 detail

Interface State Area DR ID BDR ID Nbrs
ge-0/0/2.0 DR 2.0.0.0 192.168.1.2 192.1€8.1.1 1

Type: LAN, Address: 10.0.0.1, Mask: 255.255.255.252, MTU: 1500, Cost: 1
DR addr: 10.0.0.1, BDR addr: 10.0.0.2, Priority: 128
Adj count: 0
Hello: 10, Dead: 40, EeXmit: 5, Not Stub
Auth type: None
Protection type: None
Topology default (ID 0) -> Cost: 1
user@rl> show cspf interface ge-0/0/2.0 detail
Interface State Area DR ID BDR ID Nbrs
ge-0/0/2.0 BLER 0.0.0.0 192.,168.1.2 192.168.1.1 1
Type: LAN, Address: 10.0.0.2, Mask: 255.255.255.252, MTU: %1&4, Cost: 1
DR addr: 10.0.0.1, BDE addr: 10.0.0.2, Pri
Adj count: 0
Hello: 10, Dead: 40, ReXmit: 5, Not Stub

ority: 12

Auth type: Hone
Protection type: None
Topology default (ID 0) -> Cost:

W

A. The subnet mask is incorrect.
B. The MTU setting are incorrect.
C. The interface type is incorrect.
D. The IP addresses are incorrect.

Correct Answer: B

QUESTION 2
You are using 802.1X authentication in your network to secure all ports. You have a printer that does not support
802.1X and you must ensure that traffic is allowed to and from this printer without authentication. In this scenario, what

will satisfy the requirement?

A. MAC filtering
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B. MACsec

C. static MAC bypass
D. MAC RADIUS
Correct Answer: C

https://www.juniper.net/documentation/us/en/software/junos/user-access/topics/topic-map/static-mac-bypass-mac-
radius-authentication.html

QUESTION 3

Referring to the exhibit, you haveplaced the cos multifield classifier on all edge interfaces and configured the relevant
CoS parameters. In this scenario, which two statements are correct? (Choose two.)

A. SSH traffic using the default port will be placed in the af forwarding classand accepted.

B. SSH traffic using the default port will be placed in the best-effort forwarding class and accepted.
C. UDRP traffic using the 16000 port will be placed in the voice forwarding class and accepted.

D. UDP traffic using the 16000 port will beplaced in the best-effort forwarding class and accepted.

Correct Answer: AC

QUESTION 4

Referring to the exhibit, a PIM-SM network is set up to enable communication between multicast devices.

Which two statements are true? (Choose two.)
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Source

R3 (RP)

=

Receiver

A. Before the formation of the rendezvous-point tree, a join message is sent from R1 to R3.

B. Before theformation of the rendezvous-point tree, an IGMP is sent from the Receiver to R1.
C. Before the formation of the rendezvous-point tree, an IGMP is sent from the Source to R5.
D. Before the formation of the rendezvous-point tree, a join message is sent from R1 to R5.

Correct Answer: BC

QUESTION 5

You are deploying IP phones in your enterprise networks. When plugged in, the IP phones mustbe automatically

provided with the correct VLAN ID needed for sending voice traffic to the EX Series switches.

In this scenario, which two solutions are required to accomplish this task? (Choose two.)

A. Enable LLDP-MED on appropriate access interfaces.

B. Create two VLANs and assign them as VLAN members to the appropriate access interfaces.

C. Enable the voice VLAN feature with the appropriate access interfaces and VLAN ID for voice traffic.
D. Use LLDP on appropriate interfaces.

Correct Answer: AC

Latest INO-649 Dumps | INO-649 VCE Dumps | INO-649 Exam Questions


https://www.passapply.com/jn0-649.html
https://www.passapply.com/jn0-649.html
https://www.passapply.com/jn0-649.html

VCE & PDF https://www.passapply.com/jn0-649.html
2024 Latest passapply JNO-649 PDF and VCE dumps Download
PassApply.com

Latest JNO-649 Dumps JNO-649 VCE Dumps JNO0-649 Exam Questions

Latest INO-649 Dumps | INO-649 VCE Dumps | INO-649 Exam Questions 5/5


https://www.passapply.com/jn0-649.html
https://www.passapply.com/jn0-649.html
https://www.passapply.com/jn0-649.html
http://www.tcpdf.org
https://www.passapply.com/jn0-649.html
https://www.passapply.com/jn0-649.html
https://www.passapply.com/jn0-649.html

